ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension problem 4.023, page 240

Remarks: See § 4.4, pages 168 till 170
See 84.6, pages 184 till 186
See 84.7.4, pages 196 till 198

ANSwWer:

q =6 kN/m

Explanation:

M ax = 5 002
The largest bending stresses are in the bottom fibers, since e, > €.
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o, =—1 <6 N/mm? where W, =—
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or:
MmaXZmaX
Cp=— where Z.., =€,

Working this out leads to:

_ 1q(4x10° mm)? x (400 mm)
- 800x10% mm*

o <6 N/mm? = q <6 kN/m
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